Anatomy 2009 Upper Limb

1.Regarding the bones of the wrist
a) the lunate articulates with the trapezoid

b) the carpus is composed of 7 carpal bones

c) the capitate is the most frequently fractured carpal bone

d) the pisiform lies on the plantar surface of the triquetrum

e) the capitate articulates with 4 other bones of the hand

1. Concerning cutaneous nerves of the upper limb

a) C8 nerve supplies the ring and little finger , the medial side of the hand and the forearm

b)the inferior lateral cutaneous nerve is a branch of the median nerve

c)the supraclavicular nerves pass posterior to the clavicle to supply the skin over the clavicle and superior lateral aspect of pectoralis major

d) the nerves to the shoulder are derived from the brachial plexus

e) the lateral cutaneous nerve of the forearm is the terminal cutaneous branch of the musculocutaneous nerve

2. Which muscle does not attach to the posterior aspect of the scapulae

a) levator scapulae

b) subscapularis

c) infraspinatus

d) rhomboid minor

e) teres minor

3. Which muscle – nerve pairing is correct ?

a) supraspinatus                      upper subscapular nerve

b) deltoid                                 suprascapular nerve

c) teres minor                          lower subscapular nerve

d) subscapularis                      axillary nerve

e) rhomboid major                  thoracodorsal nerve

4. Which muscle is not involved in depression of the scapulae ?

a) latissimus dorsi

b) trapezius, inferior part 

c) serratus anterior , inferior part

d) rhomboids

e) pectoralis minor

5. Regarding the axillary artery 

a) it begins at the lateral border of the first rib and ends at the inferior border of teres minor

b) the second part of the axillary artery has 2 branches – the thoracoacromial and the lateral thoracic arteries

c) the subscapular artery , a branch of the axillary artery has the smallest diameter  but the greatest length

d) the suprascapular artery forms the first branch of the axillary artery

e) the 3 trunks of the brachial plexus bear the relationship to the second part of the axillary artery

6. Regarding the brachial plexus

a) the brachial plexus is formed by the union of the anterior rami of the cervical nerves C4-8 and the first thoracic nerve

b) the anatomical formation of the brachial plexus begins with 5 roots , followed by 3 trunks , 3 cords , 2 divisions and the peripheral nerves
c) a claw hand is a result of injury to the superior part of the brachial plexus

d) the axillary artery is surrounded by the 3 cords of the brachial plexus

e) the roots of the plexus emerge between the anterior and middle scalene muscles

7. Branches from the posterior cord of the brachial plexus include the following 

Except

a) nerve to subclavius

b) upper and lower subscapular nerves 

c) axillary nerve

d) thoracodorsal nerve

e) radial nerve

8. Which forearm muscle – nerve pairing is incorrect ?

a)  pronator teres                                                median nerve

b) flexor digitorum profundus                            ulnar nerve

c) palmaris longus                                               median nerve

d) supinator                                                         anterior interosseous nerve

e) extensor carpi ulnaris                                      posterior interosseous nerve

10 . Regarding the wrist 

a) the anatomical snuffbox is bound by the epl tendon on the ulnar side and the epb and apl on the radial side

b) the extensor retinaculum creates 5 osseofibrous tunnels by attaching to the distal radius and ulna

c) the carpal tunnel contains tendons from 3 muscles and 2 nerves- the median and ulnar nerves , and no arteries

d) the nerve supply to the wrist comes from the anterior and posterior interosseous nerve branches of the radial nerve

e) the distal wrist joint is made up of the surfaces of the scaphoid , lunate and trapezium bones

11.In the cubital fossa

a) the ulnar nerve is on the medial side

b) the brachial artery is lateral to the deep tendon of biceps

c) all the superficial veins are deep to the cutaneous nerves

d) the radial nerve is on the lateral side

e) the median nerve is lateral to the brachial artery

      12. Regarding the wrist joint

       a) the ulna does not participate in the wrist joint

       b) the wrist joint is a hinge type of synovial joint

     c) the nerve innervation is supplied by the branches of the median and radial  

         nerves only

     d) the mildly flexed position of the wrist is the most stable and is called the resting 

         position

f) the wrist joint is strengthened by 4 radiocarpal ligaments

13. Regarding the muscles of the hand

a) the palmar interossei adduct  the 2nd , 4th, 5th fingers towards the axial line

b) the dorsal interossei  abduct the 2nd – 5th fingers from the axial line 

c) the lumbricals flex the IP joints of the 2nd -5th fingers

d) flexor digiti minimi brevis abducts the 5th finger

e) adductor pollicis abducts the thumb laterally

14 .  Which of the following regarding the pyramidal space of the axilla is false ?

a) apex of axilla is the cervicoaxillary canal

b) the anterior wall of the axilla is formed by the pectoral muscles and the pectoral and clavipectoral fascia

c) the medial wall is formed by the thoracic wall and the overlying serratus anterior

d) the lateral wall is formed by a narrow bony wall formed by the intertubercular groove in the humerus 
e) the posterior wall is formed by the scapula and muscles  teres minor , major and latissimus dorsi

15. Regarding the muscles of the forearm

a) palmaris longus is absent in approx. 25 % of people

b) flexor digitorum profundus is the only muscle that can flex the distal IP joints of the fingers

c) flexor digitorum superficialis is part of the superficial group of muscles of the forearm 

d) flexor  carpi radialis lies lateral to the radial artery

e) pronator quadratus has attachments to the radius and ulna at both its ends
Anatomy 2009 Upper Limb -   answers

1.Regarding the bones of the wrist

a) the lunate articulates with the trapezoid x triquetrum , scaphoid, radius, capitate

b) the carpus is composed of 7 carpal bones x eight

c) the capitate is the most frequently fractured carpal bone x scaphoid

d) the pisiform lies on the plantar surface of the triquetrum CORRECT

e) the capitate articulates with 4 other bones of the hand x 5 not with pisiform or trapezium

p.737

2.Concerning cutaneous nerves of the upper limb

a) C8 nerve supplies the ring and little finger , the medial side of the hand and the forearmx c7 supplies ring and middle

b)the inferior lateral cutaneous nerve is a branch of the median nerve x radial

c)the supraclavicular nerves pass posterior to the clavicle to supply the skin over the clavicle and superior lateral aspect of pectoralis major x pass anterior to the clavicle

d) the nerves to the shoulder are derived from the brachial plexus x cervical plexus

e) the lateral cutaneous nerve of the forearm is the terminal cutaneous branch of the musculocutaneous nerve CORRECT

p.745

3.Which muscle does not attach to the posterior aspect of the scapulae

f) levator scapulae

g) subscapularis CORRECT  attaches to anterior aspect

h) infraspinatus

i) rhomboid minor

j) teres minor

p.754

4.Which muscle – nerve pairing is correct ?

f) supraspinatus                      upper subscapular nerve x suprascapular nerve

g) deltoid                                 suprascapular nerve x  axillary nerve

h) teres minor                          lower subscapular nerve  CORRECT

i) subscapularis                      axillary nerve x upper and lower subscapular nerve 

j) rhomboid major                  thoracodorsal nerve x dorsal scapular nerve

       p.755

5.Which muscle is not involved in depression of the scapulae ?

f) latissimus dorsi 

g) trapezius, inferior part 

h) serratus anterior , inferior part

i) rhomboids

j) pectoralis minor  CORRECT protracts and depresses 

p.756

6.Regarding the axillary artery 

f) it begins at the lateral border of the first rib and ends at the inferior border of teres minor  x  major

g) the second part of the axillary artery has 2 branches – the thoracoacromial and the lateral thoracic arteries  CORRECT

h) the subscapular artery , a branch of the axillary artery has the smallest diameter  but the greatest length  x greatest diameter but shortest length

i) the suprascapular artery forms the first branch of the axillary artery x thyrocervical trunk

j) the 3 trunks of the brachial plexus bear the relationship to the second part of the axillary artery x cords

         p. 766, 774

7.  Regarding the brachial plexus

f) the brachial plexus is formed by the union of the anterior rami of the cervical nerves C4-8 and the first thoracic nerve x c5- t1

g) the anatomical formation of the brachial plexus begins with 5 roots , followed by 3 trunks , 3 cords , 2 divisions and the peripheral nerves roots, trunks, divisions, cords, nerves

h) a claw hand is a result of injury to the superior part of the brachial plexusx lower ulnar

i) the axillary artery is surrounded by the 3 cords of the brachial plexus CORRECT

j) the roots of the plexus emerge between the anterior and middle scalene muscles ?

p.774-781

8.Branches from the posterior cord of the brachial plexus include the following 

Except

f) nerve to subclavius CORRECT

g) upper and lower subscapular nerves 

h) axillary nerve

i) thoracodorsal nerve

j) radial nerve

p. 776

       9.Which forearm muscle – nerve pairing is incorrect ?

a)  pronator teres                                                median nerve

b) flexor digitorum profundus                            ulnar nerve

c) palmaris longus                                               median nerve

d) supinator                                                         anterior interosseous nerve X radial ( deep branch )

e) extensor carpi ulnaris                                      posterior interosseous nerve

p. 808

10 . Regarding the wrist 

a) the anatomical snuffbox is bound by the epl tendon on the ulnar side and the epb and apl on the radial side CORRECT

b) the extensor retinaculum creates 5 osseofibrous tunnels by attaching to the distal radius and ulna 6

c) the carpal tunnel contains tendons from 3 muscles and 2 nerves- the median and ulnar nerves , and no arteries X 4muscles fcr, fpl, fds,fdp

d) the nerve supply to the wrist comes from the anterior and posterior interosseous nerve branches of the radial nerve x anterior = median

e) the distal wrist joint is made up of the surfaces of the scaphoid , lunate and trapezium bones  x not trapezium 

p.812

11.In the cubital fossa

g) the ulnar nerve is on the medial side x posterior

h) the brachial artery is lateral to the deep tendon of biceps x medial

i) all the superficial veins are deep to the cutaneous nerves x

j) the radial nerve is on the lateral side CORRECT

k) the median nerve is lateral to the brachial artery x medial

      12. Regarding the wrist joint

       a) the ulna does not participate in the wrist joint CORRECT

       b) the wrist joint is a hinge type of synovial joint x condyloid

     c) the nerve innervation is supplied by the branches of the median and radial  

         nerves only x ulnar also

     d) the mildly flexed position of the wrist is the most stable and is called the resting 

         position x extended

l) the wrist joint is strengthened by 4 radiocarpal ligaments x 3 radiocarpal , 1 ulnar carpal

13. Regarding the muscles of the hand

a) the palmar interossei adduct  the 2nd , 4th, 5th fingers towards the axial line CORRECT

b) the dorsal interossei  abduct the 2nd – 5th fingers from the axial line x 2nd -4th fingers ( not digiti minimi ) 

c) the lumbricals flex the IP joints of the 2nd -5th fingers X mcpj and extend ipj

d) flexor digiti minimi brevis abducts the 5th finger x flexes

e) adductor pollicis abducts the thumb laterally x adducts

p.832

14 .  Which of the following regarding the pyramidal space of the axilla is false ?

a) apex of axilla is the cervicoaxillary canal

b) the anterior wall of the axilla is formed by the pectoral muscles and the pectoral and clavipectoral fascia

c) the medial wall is formed by the thoracic wall and the overlying serratus anterior

d) the lateral wall is formed by a narrow bony wall formed by the intertubercular groove in the humerus 

e) the posterior wall is formed by the scapula and muscles  teres minor , major and latissimus dorsi teres major, latissimus dorsi and subscapularis

p.763

15. Regarding the muscles of the forearm

a) palmaris longus is absent in approx. 25 % of people X 14 %

b) flexor digitorum profundus is the only muscle that can flex the distal IP joints of the fingers CORRECT

c) flexor digitorum superficialis is part of the superficial group of muscles of the forearm  x 

d) flexor  carpi radialis lies lateral to the radial artery x

e) pronator quadratus has attachments to the radius and ulna at both its ends x ulna proximal then radius distal 

p. 805

